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QUESTION 1

What is one requirement for ensuring that MCs can update their software without the need for a maintenance window?
A. MCs must be managed by an MM and connected to the same switch.

B. MCs must be in a cluster and connected in the same VLANS.

C. MCs must be directly connected on at least one port.

D. MCs must have AP licenses assigned to them in a dedicated local pool.

Correct Answer: D

QUESTION 2

A writing closet needs to support 20 APs and 110 wired endpoints. It has four strands of OM3 fiber to the network core
150 feet (45 m) away. The customer wants the links to the network core to support at least 10GbE. The customer also
requires no loss in connectivity for the switches in the closet, even with the loss of one link. The architect plans to
recommend three 2930M 40G 8SR PoE+ switches, two 4-port SFP+ modules, and two SFP+ SR transceivers.

What should the architect change about the plan?

A. Add three 10GDbE direct attach cables (DACs) or three stacking cables.

B. Add a stacking module for each switch and three stacking cables.

C. Change the two SFP+ SR transceivers to SFP+ LRM transceivers.

D. Add one 4-port SFP+ module and one SFP+ SR transceiver.

Correct Answer: A

QUESTION 3

A hospital needs a better way to track its inventory, including wireless medical devices that are moved
around the site a lot.

Which solution meets these needs?

A. Aruba asset tags and beacons

B. Aruba asset tags, APs, and Meridian

C. Aruba beacons, APs, and AirWave

D. Aruba beacons and Meridian

Correct Answer: A
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QUESTION 4

A customer has phones used as wireless Voice over IP (VoIP) devices. Which is one implication for the design?

A. Plan policies for the phone role on MCs to give the phones a high QoS priority.

B. Ensure a -75 GHz signal in both the 2.4GHz band and the 5GHz band across the entire site.

C. Ensure that APs connect on Smart Rate ports to support the high bandwidth demands of the phones.

D. Apply a bandwidth contract to the phone VLAN to limit broadcast and multicast traffic.

Correct Answer: C

QUESTION 5

Line# Part Number Descriprion Manufacturer Unit Price = Quantity = Total Price List

1.00 JZ0NAAE Aruba Meridian Blue  Hewlett Packard Enter.  $6,000.00
Dot Mav 1y E-STU
101 JZO95AAE Aruba Meridian Hewlen Packard Enter... 513.000.00

Campaigns 1y1 E-
STU

Quote Total

2 §12,00000 USA Pnee List(USD)

1 §18.000.00 USA Price Lizt (USD)

§30,000.00

A stadium wants to deploy location-based services, including blue-dot wayfinding over a 200,000 square

foot (18,580 sq. m) area. The customer also wants to enable targeted notifications when guests walk past

particular areas. The customer has selected a 1 year subscription.
The exhibit shows the BOM that the architect created in Iris.
Which correction should the architect make?

A. Add another campaign subscription

B. Add two Maps subscriptions

C. Remove one Blue Dot Nav subscription

D. Change the campaign subscription to a Maps subscription

Correct Answer: B
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